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Name: _Shaion Lu TA (circle): Maura Connor @))\Jico Zixian
Linguistics 20 MIDTERM EXAM May 7, 2018

THIS EXAM IS NOT TO BE ARCHIVED IN ANY TEST BANK

There are 12 pages, containing 7 questions for a total of 90 points, plus a 9-point bonus
question. The number of points allotted to each question is indicated in the margin.

The last sheet, which you may tear off, contains phonological feature charts. Page 9 is blank, to
be used for scratch work. If you want something on this page to be graded, indicate this

e) a word begin with a consonant whenever possible

C. Which of the following words is not footed correctly, given the stresses?

clearly.
26 1. Multiple choice: Circle the letter next to the best answer. # POINTS
A. In English, [Kh] and [K] are 1123
a) always produced with a following puff of air _
b) always unreleased 2 143
¢) never phonetically similar
@)\1 4ys contrastive J_JE_ —-E?
never in contrast
; a1b O
B. The principle of Onset Maximization requires that 0 8
a) all consonants occur at the beginning of a syllable S5 110 -
b) a stop be released as soon as possible —
C)'an onset contain as many segments as possible 6 15 &
) the vocal cords begin vibrating as soon as possible 7 6 Q
-
R
%!
=
| |

a) (,Ala)('bama)

b) ('Mi)chi(,gan) M'ZZ%
cs Con('necticut)

d) (,Tenne)('ssee) ? / %

e) Lou( isi)(‘ana)

)

D. Phonemic transcription differs from phonetic transcription in that phonemic transcription
a) omits those features that have cross-linguistic relevance
(b)\,omits those features that are predictable
c) includes only those features that are in complementary distribution
d) includes those features that are in free variation
e) includes only those features that are phonetically irrelevant

L



- What feature does not distinguish the sounds [] and [u]?
a) [high]
b) [low]
¢) [back]
d) [tense]
e) none of the above

F. Expletive infixation in English

a) must occur between two feet

b) must follow a stressed syllable

¢) must occur within a foot

d) is learned by a prescriptive rule

e) violates the prohibition on splitting infinitives

G. Flapping in English
a) can only apply within an iambic foot
b) cannot apply within a metrical foot
C) can never occur following an unstressed vowel
= d) can apply to /t/ and /d/ whenever they occur between vowels
» (&) £an apply when the surrounding vowels are in the same foot

H. According to our theory of syllabification, which
syllabified correctly? (A dot indicates a s
a) /drklajn/
b) /ek stazkt/
¢) /pai.tek/
d) /man.stias/

@\_{kenﬁ juz/

of the following English words is not
yllable boundary.)

1. What feature distinguishes the sounds [n] and [1]?
’z?))continuant]
b) [sonorant]
¢) [syllabic]
d) [strident]
e) [voice]

J. Which statement is correct?
a) an allophone is one possible realization of a phoneme
b) an allophone can belong to more than one phoneme
¢) a phoneme does not need to have more than one allophone

d) all of the above
€) none of the above



K. In dialects that have it, Canadian Raising
a) (_:har}ges a segment from [-high] to [+high]
b) Is tr.lggered by a following voiced consonant
§ triggered by a following voiceless obstruent
d) affects all English major diphthongs
e) changes a segment from [-back] to [+back]

L. Which of the following is not correct?
* a) labial sounds are made using one or both lips
@\;velar sounds are made at or near the dorsal fin
» ¢) alveolar sounds are made at or near the ridge behind the upper front teeth
» d) dental sounds are made using the teeth
e) glottal sounds are made using the vocal cords as primary articulators

M. The process by which vowels are nasalized in English is an example of
a) progressive assimilation

@egressive assimilation

C) progressive dissimilation
d) regressive dissimilation
e) metathesis

— N. Which of the following transcriptions is correct for (North American) English?

@salad ['szld]

b) June [jun] [Hun]
¢) hake ['bek] ['be)t]
/dﬁinnamon ['stnemn]

e) watermelon ['war@,mﬁln]

O. A minimal pair of words provides evidence for
a) phonetic similarity
b) complementary distribution
c) lack of contrast
d) free variation
@ 'phonemic contrast

_~ P. Which of the following pairs of sounds could not be allophones of the same phoneme in any

language?

a) [k, ?]

by [t,g] ot
0)[8,3] woral
d) [v,w] 1nvial

()b, m]



Q. Which of the following statements is false? In English,
¥ a) all low vowels are unrounded
% b) no [-back] vowels are [+round]
¥ ¢) all [+round] vowels are [+back]
all [+back] vowels are [+round]
x ) all central vowels are unrounded

R.The sounds [h] and [n] in English

a) are allophones of the same phoneme because they do not contrast

b) belong to separate phonemes because they contrast

8belong to the same phoneme because they occur in minimal pairs

d) ‘are not allophones of the same phoneme because they are not phonetically similar
e) belong to separate phonemes because they are in complementary distribution

S. Which of the following features is not contrastive for v
a) [+high]
b) [+tense]

¢) [+back]
élinasal]
e) [tlow]

T. Which of the following sets of sounds does not constitute a natural class in English?
¥ a) [1jxw]

7 b) [eade o]
)yd%jéﬂ
% d) [d3 z 3]

@[ph h kh th]

owels in English?

-> U. Which of the following sets of sounds constitutes a natural class in English?
a) [In1p]
b)[vz[f3s]
c)[oasexe]

%i) (314 §]]
ED[i wujumi]
V. Which statement is false? Allophonic rules
a) apply to newly-invented words
@apply only to a memorized list of words
c) are part of our tacit knowledge of language

d) encode predictable information
e) reduce the amount of information that needs to be stored in the mental dictionary

W. Which of the following transcriptions is not correct for (North American) English?
a) dogs /'dagz/
b) elephant  /'elofont/
c) giraffe I ERES
d) monkey  /'manki/
cat /KPaet/ no arpivationf in ophonemit



X. In English, a vowel is
a) shortened after a voiceless liquids or nasals in the preceding onset
/tr)’ﬁngthened before a voiced obstruent in the following coda
c) shortened before a voiced stop in the following onset
d) diphthongized before a voiceless sonorant in the same syllable
@engthened before a voiceless obstruent in the same syllable

(P

Y. Which of the following is not a possible syllable structure in any language? (“c” stands for
any consonant, “v” for any vowel.)

c) e)

Q

a) o b)

770—0

@ o
/R
o |
| Co
c |

cc c

Co

<—Z—xm—q

>0
<—Z
0
(@]
(@]
O>O
<—Z__x
<—z

vl
Z. Which of the following is false? A metrical foot need o

* a) cannot contain more than one stressed syllable

b) is called trochaic if its stress pattern is strong—weak

c) is called dactyllic if its stress pattern is strong—weak-weak
% d) can contain two syllables in English

@ is called pentameter if it contains five metrical toes //

16 2. a) Transcribe each of the following English words phonemically. Mark primary stress. (If
you’re not certain what they sound like, an instructor will be happy to say them for you.)

representation _/ ' 4s paisenie (an/

phonetic s {3 net1 ¥/

RATAL g b) Transcribe each of the following English words phonetically. Mark primary stress.
ALPTF AN (Again, we’ll be happy to say them for you.)

F\plt ks

~ | ~
transcription | tJ&n skAlp (3n ]

articulator [ 23 11Kk )y le) £ ]




10 3. The following are transcriptions of the names of some musicals playing this season on
Broadway. Write the name of each in standard English spelling. (Some details have been
omitted.) They are all made up of ordinary words of English.

[02 f&ntm ov Oi apara]__ The Pharfom o {ht  Opeva

[wikad]__Wicked

[K"Tpki buts] ___kinky go0tS

[0a lajn k"iy] __ The Llion king

[kAm fr3m owej] _Cowe From Awny

[wejtras]___ waitress

[skul ov 1ak] _ School of Wouk

[05 b&ndz vizit]_The bard'C visiy

[hed owva- hilz] _tead over Retls

[wins an O1s ajlnd]__onte_on This \cland

6 4. Syllabify,i.e. draw the syllable structure for, each of the following English words:

¢ 6 ¢ 6
\ /\ s / \ N
(= \ ¢ v

/iL ¢ / g /\
\ /o | \ LN
! - 0 N (o o W
N 0 N o N (o N
I N S BN A oA v
a)e s k o 1 e j by t 1 a j & 1 g |



Compare the careful speech and rapid speech pronunciations of the following English words

and phrases. For each item, name the process that has applied to the careful form to produce
the rapid form. Be as specific as possible—specify the property that is changed by
assimilation and dissimilation; specify the direction of assimilation when possible. You
do not need to identify the segments involved. (Irrelevant phonetic details have been

omitted.)

a) in Cuba

-2 b) without

c) basked

d) let it

-> e) receive

f) nationalize

g) warmth

h) sixths

Careful speech

Rapid speech

Process

[mn kjubs]
[.volu ']
[wiBawt]
[baeskt]

[let 1t]
[xi'siv]
[nzfonalajz]

[woim0]

[siksOs]

[1m kjubs]
4 Vo)
[widawt]
[baekst]
[ler 1t]
[12'siv]
[nzfnalajz]

[woimp0]

[siksts]

p\ace ACT M\ /YN ( Vegre(Qve

votumg  aggwMlehioh pvoqwmv@

me Ao dhe (1§

flappirg  assimilatin

viwel  Vedunctivn

Ad)ediun

g pehfhisTs

drisinilntion | deviiung =/
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13 6. The following are transcriptions of some words of Slovak (spoken in Slovakia). (Ix] is a
voiceless velar fricative; ['] indicates palatalization on the previous sound, which you can
1gnore; whether [a] is central or back is irrelevant.)

1. [vatra] “‘camp fire’ 6. [frkat] ‘to spatter’ 13. [splaw] ‘sluice-gate’
2. [vedro] ‘bucket’ 7. [difterija] “diphtheria’ 14. [nazow] ‘title’
3. [vix]  ‘top? 8. [filozof]  ‘philosopher’ 15. [prw] ~ ‘first’
4. [Hervi] ‘worms’ 9. [fa:dni] ‘monotonous’ 16. [kriwka] ‘curve’
5. [vdova] ‘widow’ 10. [dofajtfit)] “‘to finish smoking’
11. [feltfjar]  ‘healer’
12. [nafta] ‘gas’

a) Study the distribution of the sounds [f], [v] and [w]. How many different phonemes do
these sounds belong to: one, two, or three? (Make sure that in parts b and ¢ below you
answer, for each possible pairing of these sounds, whether they are allophones of the
same phoneme or belong to separate phonemes.)

One phopeme
b) !f you conclude that two or three of them are allophones of the same phoneme,
i) state why you arrived at this conclusion, i.e. present the evidence for it.
S A N UK E T61 Tyl ard TW) Q0 belong Yo 4ne
A fi_j A.ﬁ{ Same  phopeme . White thue § comg (
_ L% o ¥ -
'«.; I. Y Y, T L w) oveHiAp T The thvivanimendy pefween dhe 3, Q
o8 il '-{\ﬁ/ fhert ¢ ot enowgh evdtht o prove
-3 } ’r -d the exifleptc ¢ yinimal 0V heay -minima |
0_4 \9-3
y e pAIVC.
ii) choose an underlying (phonemic) form and write one or two formal rules using
distinctive features to derive the other allophone(s). (Do not use any IPA symbols in the
rule.) [ + tontin '\
 / ) jiee ; Y
/4 S| e /e
-T"L\, < e D \ - yonhd E
\ 1y _— e~ —
; ] ‘ o Yin Slen”
\C*g"\‘ PR AT v 1 (on 1\10‘(9
( r » e [ -‘éloﬁlx(:\m ‘\ K [ +ronnd [ Lawted 3
VU - F 2yt /L N \
Thvoice] _ ~ [avorct ] - vouha rfﬁc:;‘/\/
Dy ‘7 POELSs iyt
rulgs ¢) For each pair of these sounds that you conclude belong to separate phonemes (if any),
A provide the evidence needed to make this conclusion as strong as possible.
T, ok
O cymyy

/J

i 4
[
1



8 7. Consider the following data from Ewe, spoken in Ghana, Tog.o and BTnini)([c);(] il:
a voiceless velar fricative; [B] is a voiced bilabial fricative; whether [a] is central or ba
irrelevant.)

1. [dru] ‘to be bent’ 9. [fle] ‘to pluck’

2. [wlhy] ‘to dig’ 10. [sro] ‘wife’

3. [dzre] ‘to quarrel’ 11. [lo] ‘to wrirte’
4. [lakle]  ‘leopard’ 12. [atra] ‘mangrove’
5. [blema]  ‘formerly’ 13. [Bla] ‘suddenly’
6. [zr3] ‘to be smooth’ 14. [xlolo:]  ‘rough’

7. [15] ‘to love’ 15. [tsro] ‘bark of tree’

8. [hle] ‘to spread out’ 16. [adoglo]  ‘lizard’

Study the distribution of [I] and [r]. State whether these two sounds are allophones of the
same phoneme or belong to separate phonemes. If you decide that they belong to separate
phonemes, provide the evidence needed to make this conclusion as strong as possible. If
you decide that they are allophones of a single phoneme, explain why, identify an
underlying form for the phoneme, and write a formal rule using distinctive features to

derive the other allophone. (Do not use any IPA symbols in the rule.) Assume [r] has the
same features as English [1].

(1] RAE J M\O\ahohu o e sart  phghtre
w- U d-w Snee Aty den'l appear W
k-3 2.t
~ the  Sapt  thvivimmtn t
p_e 1.7
p_ ¢ s_5
w0 £ v /|
h-¢ §.0 /\
[
‘” (o ponk L (1) L)
9-° Arewhe ! ¢
62 [CORONAL] _ Y
X_ o 4
0-0
Tuns WRINAL]
¥$0 h —\aﬂ [ —
9 -0 [—r\ﬂﬁ - { /
+ a4

10



R R R R R

BONUS QUESTION: DO NOT LOOK AT THIS QUESTION UNTIL YOU HAVE DONE YOUR BEST TO
ANSWER ALL OTHER PARTS OF THE EXAM! You may earn up to nine bonus points.

8. Consider the following data from English as spoken by a young child. (You could just as
well treat it as an exotic dialect.) The first set of examples illustrate one phonological rule of
this child’s pronunciation (irrelevant phonetic details are not indicated). Assume the child
has the same underlying representations as adult English, as given:

English Underlying Child’s Phonetic

spelling Representation Representation

walks /waks/ [wakt] S -
mans /menz/ [mend] z h- ®
takes /teks/ [tekt] s K -®
Z00 Izu/ [du] 2 #_\
sad /sed/ [ted] s 4 2

a) Write one formal rule using distinctive features to derive the child’s pronunciations from the
underlying representations. Do not use any IPA symbols in your rule.
-Son

Y (Uhtip
(0 poNA L
, 4an -
w\

Now conside owing set of data:

- (onfin ;
- [ —Hnder\{] / all Lhviin men 1}

English Underlying Child’s Phonetic

spelling Representation Representation

puppy /pApi/ [pA?i] A P
took /tuk/ [tuk] U_% L
kick /Kik/ [ki?] T _¥ k Stop$
baby /bebi/ [be?i] e _\ b
pet /pet/ [pet] e ¥ 1
toot /tut/ [tu?] wo_w t
daddy /daedi/ [da?i] ®_\ d
kid /kid/ [kid] 1% o‘}
cake /kek/ [ke?] e

paper /pepa/ [pe?2] e. ¥ f
tag /teeg/ [teeg] ®_# 3
did /did/ [di?] 1 % d

b) A second rule is needed to derive these pronunciations from their underlying representations.
State this rule precisely in words. Refer to natural classes, not lists of sounds.

4

stops  pecome gletial  ctop¢ wheh  dhe  came  §iop \Pmede( +h e
/ vonel that  preceder the Stop,  When 4ne  wovd \ ot the
votteyn  ((stop) (voweD) ( Came Ctup) , 4ne (ewhed (fup vefome( AN

¢) What phonological process is this an example of?

#

q pftal top.

-

deletion

[continues next page]

11



Finally consider the following forms:

English Underlying Child’s Phonetic
spelling Representation Representation
does /daz/ [dad]

suit /sut/ [tut]

d) These forms can be derived using the two rules that derive the words in parts a) and b) above.

(If the rules you have written don’t work, you may have to go back and modify them to
make this possible.) Do the two rules need to be ordered?
\

(Circle one:) YES' NO

Give evidence to justify your answer, in the form of a pair of derivations for one of the
words in this last group.

e /dar | swut | VR Jda] [ v
O dad bad 0 -
v drd tw
@ dn b )
T Tdal)d Tial) Crp [dad]) 4w
X X v %

The cend vale showld be implemented before

dhe  €0Kk yule

12
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